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Time : 3Hrs. Sem - V- EC
TV Engg.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Sketch the block diagram of monochrome television

11.

transmitter and briefly explain the terms associated
with it.

My fofae ci=aiier o1 IR Es
i 3R &8y ¥ 99 Gefta usl & aren
B |

OR(312141)

Describe the construction and working principles

of image orthicon camera tube.

S99 S dURT <gd B q-rac AR fhar
fafer &1 avfq & |

What is photoelectric effect ? How is the principles
of photo emission and photo conduction employed

in television camera ?

wicl faga yvEe &1 @ ? f$9 uaR
Bl ddT dsaad Rigra fefavH
DRI H yJad gl & ?
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(i)

(iii)

(iii)

(iv)
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cfafas fgar A s<dRiT &1 SUAhT
................... @ foru fear smar 2

(@) fraedy R &

(@) U g

(\) 98 R yaH &<A

(]) PIgRe HH HA

The television receiver generally employ
.......... antenna.

(a) Yagi

(b) Loop

(c) Parabolic

(d) Reflecting

In television studio illuminance is nearly
................. lux.

(a) 1000

(b) 500

(c) 400

(d) 300
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GROUP -C ,
(vi)

Answer all Five Questions.

I ufg 9 & SR <2 |

6x5=30

7. What is image lag in camera tube ? Which antenna
is used for reception of television signal ?
Briefly explain.
6 ..
SIRT <gd ¥ ufafys v @ 2 ? P9 i)
vfres Sfafasm RAqw & yygaa ghar 82
WY § AT RN |

OR (3121a1) (vii)

Differentiate between
(a) Primary and Secondary colours and
(b) Additive and subtracting mixing.

(31) uraffies 3T qAT W=l I IR
(@) ufsfew fafda qom wagfacw ffdaT o (vii)
IR 9TV |

8. Explain the meaning of NTSC, PAL and SECAM ,
System and discuss briefly. 6

5 1621505

gd® Sfafas aedRk & 625 ufaaar
SUed & a1 ufeaat gfa fees foasr
BT ?

(31) 3125

(@) 625

(") 1250

() 15625

Ghost is availbale on television screen, the
defect may occur due to.

(a) EHT

(b) Antenna

(c) H-Oscillator

(d) V-Oscillator

IR <faafasq & w19 WX "ie Sua=I
2, dl g wdc f&g HRUT 8 gdHdr 27
(1) EHT

(@) efremm

(|) H- 3fff¥aex

(%) V- 3iifaer

The phase difference between primary colour
and complementry colour is

(a) 360°

(b) 0°

(c) 180°

(d) 270°
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OR (3121an)
Give the names of various instruments which are

used for TV alignment and serving.

S+ faftr=1 I=3f @ I 9 forer sSuAhr
Sforfase & Canrg== 9 afdfyT & gar 21

Explain various function of RF tuner

RF <R & fafyr= sl &) fad==m a3 |

OR (3721d1)

A picture has 625 vertical line element and 50
horizontal line elements. What is the total number

of elements ?

UPh dWdR A 625 dfdhd Ufdd 3raaq dem 50
sIRGIcd ufdd s@aa 2 | o s@gal &
T fea-dl 2 2
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x)
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(xi)
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The colour television camera uses
(a) One camera tube only

(b) Three camera tube only

(c) Two camera tube only

(d) Either two or three camera tube

SYANT HRaT 2 |

(31) Th DT <Y

@) = 9T TgS

(|) < ¥ TJ9

() =t @ df° dwRT Y9

Camera tube generates
(a) Secondary colour only
(b) Primary colour only
(c) Both (a) and (b)

(d) None of these

DRI YT oo I~ BT 2 |
@1 e dd=gl 3

(@) % g <

(&) (1) 8k (8) <m+r

(®) s 9 3Is T8I
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xix) I RgR fega o s @1

(xx)

(xx)

ST Ff fHar srar 8 ?

(@1 X-fo3on &1 SIS ge™ & forg
@) Iz gHaa &1 g & s fam
I+ & eRAe $ fe dxar 21
(¥) w9 & IHDIANT D g |

(€) 39 A »Ig T

The function of the serrations in the composite
video signal is to

(a) Help vertical synchronization

(b) Help horizontal synchronization

(c) Increase the quality of reception

(d) None of these

WG &1 Gy fafsar Rsra 5«

®rf gar g ?

(@) afdsa RisgoasT d ASqTR
BIdl B |

(@) RSl RisAEgsad § 745N
Bdl 2 |

(@) RAUE & I[urEar & de H

(®) 39 & iz &l
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(xiv)

(xiv)

(xv)

(xv)

9 1621505

If the audio carrier frequency is 67.75 MHz
for a particular channel, then the video carrier
frequency is

(a) 62.25 MHz

(b) 73.25 MHz

(c) 67.75 MHz

(d) 50 MHz

fodll @ A9« & fag siffsar dRAR
amgfa &1 99 67.75 MHz 2, d9 fafsar
AR emgfa 1w feaar gl ?

(a1) 62.25 MHz

(@) 73.25 MHz

(|) 67.75 MHz

() 50 MHz

The number of frames per second in Indian
TV system is.

(a) 30

(b) 25

(c) 50

(d) 60

ARG g yomell § ufa do wH
DY AT o gIdl 2 |

(1) 30

(@) 25

(|) 50

(=) 60
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